



College Code :- 523

MEC501- IC ENGINES	MEL501- IC ENGINES LAB	MEC502- MECHANICAL MEASUREMENT & CONTROL	MEL502- MECHANICAL MEASUREMENT & CONTROL LAB	MEC503- HEAT TRANSFER	MEL503- HEAT TRANSFER LAB
MEC504- DYNAMICS OF MACHINERY	MEL504- DYNAMICS OF MACHINERY LAB	MEDLO5011 PRESS TOOL DESIGN	MEDLO512- MACHINING SCIENCES & TOOL DESIGN	MEL505- MANUFACTURING SCIENCES LAB	
MEL506- BUSINESS COMMUNICATION ETHICS					

**Result Of THIRD YEAR MECHANICAL ENGINEERING-SEMESTER - V (CHOICE BASED)**

Examination Held In NOVEMBER 2018

Date :- 18/Jan/2019

Page 2 of 4

Seat No	Student name	ICE				ICE Lab				MMC				MMC Lab				HT				HT Lab				DOM				DOM Lab				PTD				MS Lab				B C E Lab				Total	Total
		E.S	I.A	Tot. LG	GP C	TW	Prac t	Tot. LG	GP C	E.S	I.A	Tot. LG	GP C	TW	Prac t	Tot. LG	GP C	E.S	I.A	Tot. LG	GP C	TW	Prac t	Tot. LG	GP C	E.S	I.A	Tot. LG	GP C	TW	Oral	Tot. LG	GP C	E.S	I.A	Tot. LG	GP C	TW	Tot. LG	GP C	TW	Tot. LG	GP C	Total	Total		
		32/80	8/20	40/100	C*G	10/25	10/25	20/50	C*G	32/80	8/20	40/100	C*G	10/25	10/25	20/50	C*G	32/80	8/20	40/100	C*G	10/25	10/25	20/50	C*G	32/80	8/20	40/100	C*G	10/25	10/25	20/50	C*G	32/80	8/20	40/100	C*G	10/25	10/25	20/50	C*G	20/50	20/50				
52614	/ DONGARE AKSHADA ANAND	42 (D)	20 (O)	62 (C)	7.0 4	24 (O)	20 (O)	44 (O)	10.0 1	46 (D)	16 (O)	62 (C)	7.0 4	23 (O)	20 (O)	43 (O)	10.0 1	64 (O)	18 (O)	82 (O)	10.0 4	22 (O)	23 (O)	45 (O)	10.0 1	64 (O)	19 (O)	83 (O)	10.0 4	23 (O)	23 (O)	46 (O)	10.0 1	56 (B)	19 (O)	75 (A)	9.0 36	23 (O)	23 (O)	10.0 1	43 (O)	43 (O)	10.0 2	242 27	Pass 8.96		
52616	DUDYE AMOL ANIL	23F (F)	11E (D)	-	-	20E (O)	17E (C)	37 (B)	8.0 8	40E (D)	16E (O)	56 (D)	6.0 24	21E (O)	20E (O)	41 (O)	10.0 10	32E (P)	9E (E)	41 (P)	4.0 16	17E (C)	11E (P)	28 (D)	6.0 6	22F (F)	12E (C)	-	-	19E (A)	17E (C)	36 (B)	8.0 8	20F (F)	12E (C)	-	-	20E (O)	20 (O)	10.0 10	35E (B)	35 (B)	8.0 16	98 15	Fail		
52624	KADAM ANIKET VIKAS	32 (P)	14 (B)	46 (E)	5.0 4	22 (O)	17 (C)	39 (A)	9.0 9	44 (D)	18 (O)	62 (C)	7.0 28	21 (O)	18 (B)	39 (A)	9.0 9	49 (C)	13 (C)	62 (C)	7.0 28	20 (O)	18 (B)	38 (A)	9.0 9	38 (E)	15 (A)	53 (D)	6.0 24	20 (O)	20 (O)	40 (O)	10.0 10	54 (C)	14 (B)	68 (C)	7.0 28	23 (O)	23 (O)	10.0 10	40 (O)	40 (O)	10.0 20	195 27	Pass 7.22		
52627	KAMTEKAR AMIT ARUN	47 (D)	19 (O)	66 (C)	7.0 4	21 (O)	21 (O)	42 (O)	10.0 10	48 (C)	13 (C)	61 (C)	7.0 28	19 (A)	16 (C)	35 (B)	8.0 8	54 (C)	14 (B)	68 (C)	7.0 28	18 (B)	21 (O)	39 (A)	9.0 9	41 (D)	15 (A)	56 (D)	6.0 24	19 (A)	21 (O)	40 (O)	10.0 10	61 (A)	17 (O)	78 (A)	9.0 36	22 (O)	22 (O)	10.0 10	40 (O)	40 (O)	10.0 20	211 27	Pass 7.81		
52628	KATKAR CHINMAY CHANDRASHEKHAR	33 (P)	16 (O)	49 (E)	5.0 4	20 (O)	18 (B)	38 (A)	9.0 9	33 (P)	11 (D)	44 (P)	4.0 16	21 (O)	19 (A)	40 (O)	10.0 10	40 (D)	9 (E)	49 (E)	5.0 20	19 (A)	18 (B)	37 (B)	8.0 8	32 (P)	10 (D)	42 (P)	4.0 16	21 (O)	21 (O)	42 (O)	10.0 10	52 (C)	15 (A)	67 (C)	7.0 28	21 (O)	21 (O)	10.0 10	36 (B)	36 (B)	8.0 16	163 27	Pass 6.04		
52633	KULKARNI OMKAR DAMODAR	47 (D)	20 (O)	67 (C)	7.0 4	23 (O)	22 (O)	45 (O)	10.0 10	43 (D)	17 (O)	60 (C)	7.0 28	22 (O)	22 (O)	44 (O)	10.0 10	62 (A)	19 (O)	81 (O)	10.0 40	18 (B)	23 (O)	41 (O)	10.0 10	48 (C)	18 (O)	66 (C)	7.0 28	23 (O)	23 (O)	46 (O)	10.0 10	56 (B)	20 (O)	76 (A)	9.0 36	22 (O)	22 (O)	10.0 10	47 (O)	47 (O)	10.0 20	230 27	Pass 8.52		
52634	LINGAYAT PRATHAMESH SANJAY	43 (D)	17 (O)	60 (C)	7.0 4	20 (O)	18 (B)	38 (A)	9.0 9	51 (C)	16 (O)	67 (C)	7.0 28	21 (O)	17 (C)	38 (A)	9.0 9	52 (C)	18 (O)	70 (B)	8.0 32	19 (A)	17 (C)	36 (B)	8.0 8	39 (E)	13 (C)	52 (D)	6.0 24	20 (O)	19 (A)	39 (A)	9.0 9	59 (B)	18 (O)	77 (A)	9.0 36	23 (O)	23 (O)	10.0 10	34 (C)	34 (C)	7.0 14	207 27	Pass 7.67		
52636	MANORKAR PRATHAMESH BHALCHANDRA	24F (F)	10E (D)	-	-	20E (O)	17E (C)	37 (B)	8.0 8	43E (D)	13E (C)	56 (D)	6.0 24	20E (O)	16E (C)	36 (B)	8.0 8	19F (F)	8E (P)	-	-	17E (C)	19E (A)	36 (B)	8.0 8	18F (F)	9E (E)	-	-	19E (A)	20E (O)	39 (A)	9.0 9	32E (P)	11E (D)	43 (P)	4.0 16	20E (O)	20 (O)	10.0 10	43E (O)	43 (O)	10.0 20	103 15	Fail		

/= Female, AB = Absent, F= Fail, E.S=End Sem., I.A=Internal Assessment, E= Exemption can be claimed, GP=Grade Point, @=Ordinance  
5042,\*=Ordinance 5045, LG=Letter Grade, C=Credit Point, C\*CG=Commulative Grade, SGPI=Semester Grade Performance Index

<b>Marks (%) -</b>	<b>0 - 39.99</b>	<b>40 - 44.99</b>	<b>45 - 49.99</b>	<b>50 - 59.99</b>	<b>60 - 69.99</b>	<b>70 - 74.99</b>	<b>75 - 79.99</b>	<b>80 - 100</b>
<b>Grade :-</b>	<b>F</b>	<b>P</b>	<b>E</b>	<b>D</b>	<b>C</b>	<b>B</b>	<b>A</b>	<b>O</b>
<b>Grade :-</b>	<b>0</b>	<b>4</b>	<b>5</b>	<b>6</b>	<b>7</b>	<b>8</b>	<b>9</b>	<b>10</b>

ENTERED BY

CHECKED BY

EXAMINATION INCHARGE



